AW Kevfew
/_/’L ¢ ph, = 95 €/min.

Pavid: to= 22Ul s o £y, =252
. & .
Migha Com, = f2 T

Sy, Qlgec. 2 372§ sce,
A p L 36 Sec
JJay . /WL‘ = ?D (/ﬂ,'@,
Z/oi,‘_: 45;,' = O £ jee
é_(uﬁ = Z/j‘k(_% 295 {edf.
Dzl a ty = I7S Se
/(7/“'5 = JD g/ps/‘L, > 27D bects
total
/\/g 4 [ £ 9c4m
A = oy [ Wem.
WIZE (6Tem
& vayl{: [ 6.1 cm

-\ {1em. M/[%



jpéfc/ an V(”//Ocr'lLﬂ
Qé/ dictance £, Eime %

K =
~ dithance ( |
N tiWwe ( UMF

J\(f@eé
C insfan #gh cous  rper )
Mhids . ’V‘FL’;@ l%@)éﬁ

J\'Q//aczmmt — j
ti'me el 3

Velocity =

w88 +ha Sime V\l/l}r%f,/

— -
l=0wm £ =z

% —>
A ﬁ & = gv/v\_ Lo U/u
é 4‘# ¢ \/(fh"é

U — magn fade )4 V@(Dé/\@.

For g dan fot oy Velocity and Jped :
Gl = v= 57



Uwidorrm  mEio. (5= N5 |

}Qdfﬁ‘/('lmk mofyoh 3— (| J%w/gé%

lihe
— M
N=yv v s s s - . l/:-’»l/‘:‘-
< moog I 2 |
V:—§” { —t—» "F\_;)X/hq
-5 ——L-..\ OI z 3

/\/014 ULy [ oy Ve oy p\) (}5& s
) &, divechiny

614(554_5.
c{ B tota| dsdance
4 I/CVqﬁ( ‘(/d o tots| time
o fo 4= | JI‘S/@@?&,&—
Al ersge Vz/ou@ - todal time










